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Question Number : 1 Question Id : 87827042285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Porosity of an aquifer is referred to as

1. Ratio of volume of the total voids to volume of the aquifer

2. Ratio of volume of the aquifer to volume of the voids

3. Ratio of the volume of connected pores to volume of the aquifer

4. Ratio of the volume of the aquifer to the volume of the connected pores

Options :

878270166041. 1
878270166042. 2
878270166043. 3

878270166044. 4

Question Number : 1 Question Id : 87827042285 Question Type : MCl( gcollegedunias

Question Mandatory : No Calculator : None Response Time : N.AThi -



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS TaYyd B TYd I 39 UHR Tafiid fodr oar &

1. TAYd & T & 0L Tad Rl & AT ST 30
2. Ridd & ad- & ol SIayd & H19a &I 300d

3. SITYd @1 HGd & U 9 gU 191 & HTa & H1d
4. 9S Ul & HGa & oY JaYd & H1Gd &1 3

Options :

878270166041. 1
878270166042. 2
878270166043. 3
878270166044. 4

Question Number : 2 Question Id : 87827042286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match List-l with List-l

List-l List-lIl
(A).Chromite Deposits (). Jharia
(B). Iron Ore Deposits (I1). Khetri

(C). Copper Ore Deposits (II1). Sukinda

(D). Coal Deposits (IV). Bailadila

Choose the correct answer from the options given below:

1. (A)- (1), (B) - (IN), (C) - (1), (D) - (IV
2. (A) - (), (B) - (1), (C}- (1), (D) - (IV
3. (A) - (1), (B) - (IN), (C) - (IV), (D) - (1N
4. (A) - (I, (B) - (IV), (C) - (), (D) - (I

)
)
)
)

gcollegedunias
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Options :

878270166045. 1
878270166046. 2
878270166047. 3
878270166048. 4

Question Number : 2 Question Id : 87827042286 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 & Ty -1 BT A Y
it Gt

(A). BAEc HTHET (). Fhan
(B). TTE 0% &1 (& |(11). BT
(C). TET 3T &1 (Hak|(). Gfdeer
(D) PG H FHET (V). FEfsen
-d feu e [9@vcdl 9 |8l SR 44

1. (A) - (), (B) - (1), (C) - (111}, (D) - (IV)
2. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
(D) - (ll1)

(1)

3. (A) - (1), (B) - (II), (C) - (IV)
4 (A) - (Ill), (B) - (IV), (C) - (IN), (D) - (I

Options:

878270166045. 1
878270166046. 2
878270166047. 3
878270166048. 4

Question Number : 3 Question Id : 87827042287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
collegedunia:

Correct Marks : 4 Wrong Marks : 1

~



Match List-l with List-ll

List-| List-ll

(A).Indian plate collided with the Asian plate(l). Cretaceous Period

(B).Age of Siwalik group (I1).Miocene-Pleistocene
(C). Angiosperm first appered during (111). Paleocene- Eocene
(D). Golden age of the Fises (IV). Devonion Period

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV}

2. (A) - (N, (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (I, (B) - (1), (C) - (IV), (D) - (1IT)

4. (A) - (I, (B) - (1), (C) - (Im), (D) - (IV)
Options :

878270166049. 1
878270166050. 2
878270166051. 3
878270166052. 4

Question Number : 3 Question Id : 87827042287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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-l & Y -1 BT B

it -1l

(A) YR Tie 91 URATE ©ie ¥ THd |(1). He Ry Hed

(B) Rafes 9Hg &1 &1 (Il). A H-S e
(C). tforarend &t adwyg IR (11, SieifEa-3 s
(D). e o1 a0l i (V). SaT9 e
-Td feu 7T fadeal 5 § |8t SR g

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (), (B) - (1), (C) - (IV), (D) - (I1)
3. (A) - (11}, (B) - (1), (C) - (IV), (D) - (Il1)
4 (A)-(I1), (B) - (1), (C) - (Il), (D) - (IV)

Options:

878270166049. 1
878270166050. 2
878270166051. 3

878270166052. 4

Question Number : 4 Question Id : 87827042288 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks :

1

An unconfined aquifer has porosity of 0.4 and Specific Yield of 0.1, what s the Iikely value of its Specific Retention:

1.0.01
2.0.03
3.03

4004

Options :
878270166053. 1
878270166054. 2

878270166055. 3

@collegedunias
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878270166056. 4

Question Number : 4 Question Id : 87827042288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP UReS Ty & 0.4 T T AR 0.1 1 Ty Wil &, 39 Simufeas e &1 Guifad 9H &1 &2

1.0.01
2.0.03
3.03

4.0.04

Options :

878270166053. 1
878270166054. 2
878270166055. 3
878270166056. 4

Question Number : 5 Question Id : 87827042289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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An important advantage of radiation logging over most others is that they may be recorded in
(A). Open holes

(B). Cased holes

(C). Either open or cased holes

(D). Cased holes that are filled with any fluid

Choose the correct answer from the options given below:

B) and (D) only.
B) and (C) only.
B), (C) and (D).
C) and (D) only

— e —

1

2

3. (A),
4. (B),
Options :
878270166057. 1
878270166058. 2

878270166059. 3
878270166060. 4

Question Number : 5 Question Id : 87827042289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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B JorT H AR e &1 U Heaqul oy T8 & b I (e & § Hftrcifiea o oo o waoel -
(A). Taga gu

(B). 9134 U

(C). 31 i fage a1 31gq g

(D). T +ff TR Uy § 4R §T H19d o

1 feu e faedi ¥ WE SR I

1. Bad (A), (B) 3R (D)
2 &ad (A), (B) 3R (C)

3. (A), (B), (C) 3M (D).
4 &ad (B), (C) 3R (D)

Options :

878270166057. 1
878270166058. 2
878270166059. 3
878270166060. 4

Question Number : 6 Question Id : 87827042290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Epicentre of an earthquake:

1. Is generally located below the land surface

2_Is located on the land surface

3. Is located in air above the land surface

4 |s the point below the surface where the earthquake has originated

Options:
878270166061. 1

878270166062. 2 :
Qcollegedunlas

878270166063. 3 =



878270166064. 4

Question Number : 6 Question Id : 87827042290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Hoby BT g

1. GHEFIGAT HH &1 ag & -id FRud gl g

2 ATl gae RRGEed S

3. Yy B! g & W sal & UG Bl &

4. Gdg & -ird @I fdg olel YU 3 3dRI 8ldl &

Options :

878270166061. 1
878270166062. 2
878270166063. 3

878270166064. 4

Question Number : 7 Question Id : 87827042291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hydrolysis 15 an example of :

1. Mechanical weathering
2. Frost wedging

3. River erosion

4. Chemical weathering

Options :
878270166065. 1

878270166066. 2 gcollegedunias
878270166067. 3 )



878270166068. 4

Question Number : 7 Question Id : 87827042291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 3UYed Udh 3ICIed0 &

1. Qi@ Suem

2. quR dfefT

3. 7Tcl 3RUH

4. JHEHESD UL

Options :

878270166065. 1
878270166066. 2
878270166067. 3
878270166068. 4

Question Number : 8 Question Id : 87827042292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List-l with List-ll

List-| List-l

(A). Weathering (I). Estimate of the energy released by an earthquake

(B). Magnitude (). Exfoliation

(C). Glacial Landform|(lll). Estimate of destruction caused by an earthquake

(D). Intensity (IV). Hanging Valley

Choose the correct answer from the options given below:

1. (A) -
2. (A)-
3. (A) -
4 (A)-

1), (B) - (In), (C) - (111), (D) - (IV
1), (B) - (1), (C) - (IV), (D) - (I
1), (B) - (1), (C) - (IV), (D) - {III
I

)
)
)
1T}, (B) - (IV), (C) - (1), (D) - (11}

— — S —

Options :

878270166069. 1
878270166070. 2
878270166071. 3

878270166072. 4

Question Number : 8 Question Id : 87827042292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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- & WY G-l B B

Gl -

(A). 3&RT (1). 4B & R Fearoid Foll &1 HHT
(B). TR (Il). SI=TeHA

(C). Terie ®ew=g (). Yo=9 ¥ U = &1 sdeq

(D). dtaar (V). Tedd! gret

-d feu e faoedl § © |8t IR 9

1.(A)-(1), (B) - (1), (C) - {|||:' (D) - (IV)
2 (A) - (Il), {E!I‘-[II!} (C) - (IV). (D) - ()
3. (A) - (11}, (B) - (1), (C) - { V), (D) - (II)
4 (A) - (lll), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270166069. 1
878270166070. 2
878270166071. 3

878270166072. 4

Question Number : 9 Question Id : 87827042293 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias
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Arrange the following layers of earth in sequence of increasing depth from earth's surface to the centre of the earth
(A). Lower mantle

(B). Asthenosphere

(C). Crust

(D). Core

Choose the correct answer from the options given below:

Options :

878270166073. 1
878270166074. 2
878270166075. 3

878270166076. 4

Question Number : 9 Question Id : 87827042293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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7l @1 g § gl & g d@ Sedl Tedls & oA | 0 @ e wadl of srafiyd o
(A). Fraen fieq

13 Ry Ty et 10 T SR

1 (A‘ (B), (C), (D)
(A), (C), (D)

(B), (A), [DJ

(B), (D), (A

(B),
3 (C),
4. (C),
Options :

878270166073. 1
878270166074. 2

878270166075. 3

878270166076. 4

Question Number : 10 Question Id : 87827042294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List- with List-II

List-l List-II

(A). Siderophile Elements (1. He
(B). Chalcophile Elements (I1). Mg
(C). Lithophile Elements (1. Ag
(D). Atmophile Elements (IV). Au

Choose the correct answer from the options given below:

(A)- (1), (B) - (I, (C) - (1IN}, (D) - (IV
(A)-(1),(B)-

1.(A)-( )-

2.(A)-(1), (B)- (Ir), (C)- (W), (D)-(IV
3. (A)-(IV), (B) - (1h), (C) - (), (D) - {1
4.(A)- (I, (B) - (V), (C)- 1), () - (I

)
)
)
)
Options :
878270166077. 1
878270166078. 2
878270166079. 3

878270166080. 4

Question Number : 10 Question Id : 87827042294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias
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-l & Y -1 BT B

it -l

(A). FISESUHEIST ad (). He

(B). SieRImSd @ (I). Mg

(). e aa (Il). Ag

(D). THIBIST dd (IV). Au

T RU T el & @ W8 SR T

1. (A) - (), (B) - (IN), (C) - (111}, (D) - (IV)
2. (A) - (), (B) - (IN), (C) - (I, (D} - (IV)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270166077. 1
878270166078. 2
878270166079. 3
878270166080. 4

Question Number : 11 Question Id : 87827042295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



The bed load of a stream during flood season is likely to
{A). Move by saltation

(B). Move by traction

{C). Move either by saltation or traction or both

(D). Move as suspended finer load

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).

4 (B), (C)and (D) only

Options :

878270166081. 1
878270166082. 2
878270166083. 3

878270166084. 4

Question Number : 11 Question Id : 87827042295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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q1G & H19H & GRH TF Ral & qa HR BH 31 a8

(A). FTecTH BRI

(B). U g1 TIfa

(C). T1 Il WIeeTH 1 YU O g1 & gRI 7id

(D). FdfeT R YR s TaH Tfa

-t fau U fadedl & ¥ 981 IR -

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270166081. 1
878270166082. 2
878270166083. 3
878270166084. 4

Question Number : 12 Question Id : 87827042296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List-l with List-ll

List-| List-ll

(A).Glossopteris are recovered from (). Spiti valley

(B).Cephalopods are mostly preserved in [(Il). Arniyalur Formation

(C). Trilobites in India are recovered from ((llI1). Lower Gondwna

(D). Ptillophylum flora preserved in (V). Upper Gondwana

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (I1N), (D) - (I}

2. (A) - (I, (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (I, (B) - (1), (C) - (1), (D) - (IV)
Options :

878270166085. 1
878270166086. 2
878270166087. 3
878270166088. 4

Question Number : 12 Question Id : 87827042296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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-l & Y -1 BT B

it g1l

(A). TTEPRE T W & (1). ife Tt

(B). Rrtraatss sfieiem wfém &|(1). sy wHee
(C). ¥ # crsaarge M ard |(11). Feen disam
(D). fEroiwrsom oa=afd Sfém e |ov). Sl Tisamn
- feu e fdmedl § 9 |8t o) 94:

1. (A) - (IV), (B) - (11}, (C) - (1), (D) - (1)
2. (A) - (ln), (B) - (1IN, (C) - :' (D} (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - ()
4. (A)- (I, (B)- (1), (C)- f.ll (D)-(IV)

Options:

878270166085. 1
878270166086. 2
878270166087. 3
878270166088. 4

Question Number : 13 Question Id : 87827042297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias
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Dendritic type of drainage patiern develop in areas where:

(A). The rocks/iormation beneath the stream has a system of bedding plane, fractures, or faults that form a rectangular
network

(B). The rocks/formation beneath the stream has no particular fabric

(C). The rocks/formation beneath the stream has no particular structure

(D). The rocks/formation beneath the stream can eroded easily in all directions
Choose the correct answer from the options given below:

.(A), (B) and (D) only.
)and (C) only.
), (C)and (D).
.(B), (C)and (D) only

Options :

878270166089. 1
878270166090. 2
878270166091. 3
878270166092. 4

Question Number : 13 Question Id : 87827042297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias
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GBI TPR (Denditic type) 31 31TaTg TTRey 3 it & fomfia T & el

(A). TR & T TeHTICE H R0 ae, FaT a1 =1 3 U el il @ of U e ol el 3|
(B). TR & i TeHATE | @i Uieger Ui TE 3
(C). TRt & i TeFIRITE § 312 iR T T8 3|
(D). §RE & el FeFIRaae &1 94 femmeft 7 o ¥ aRv 5l Sl gl
T ferm e € 9 SR
1.0 (A), (B) R (D)
2 &ad (A), (B) IR (C)
3.(A), ), (C) 3R (D)
4 &ad (B), (C) AR (D)

Options :

878270166089. 1
878270166090. 2
878270166091. 3
878270166092. 4

Question Number : 14 Question Id : 87827042298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Match List-l with List-Il

List-l List-l

(River stage, etc.) |(Landforms/River processes, etc.)

(A). Initial stage  |((

). Wider River with gradual banks and initial development of the flood plain

(B). Youthful stage|(ll). Associated with tectonically uplifted landforms and two sharp valleys on each side

(C). Mature stage |(lll). Deep V' shaped River valleys

(D). Old age (IV). Wide flood plain with little erosion

Choose the correct answer from the options given below:

1.(A)- (1), (B) - (Il), (C) - (), (D) - (IV)

2.(A)-(IN), (B) - (), (C) - (1), (D) - (IV)

3.(A)- (I, (B)- (), (C) - V), (D) - (1)

4.(A)- (), (B) - (Iv), (C) - (1), (D) - (1)
Options :

878270166093. 1
878270166094. 2
878270166095. 3
878270166096. 4

Question Number : 14 Question Id : 87827042298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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AT-1 & T TRl BT A B

St -1

(At araeyr, anfe)|(eyeeumdt wwH, afe)

(A). URTHE 3GRA |(1). HiFs del 3R 91 & AgF & WRITE e & 9 =gt 7!
(B). TEUTTRI (1. faac=® =9 ¥ 3fdd Reeedl iR vae avF o dia 9ifeat € 9 gy
(C). HrgTa=a (). Tt 4t anepfar B T wifeat

(D). GG (IV). BH O & |1 fawgd 18 &1 3
- fe e YW TR

1), (B) - (1), (C) - (1M, (D) - (IV
1), (B) - (), (C) - (1), (D) - (IV
1), (B) - (1), (C) - (IV), DJ-{l
{A}— .|||) (B) - (IV), (C) - (1), (D) -

— e

Options :

878270166093. 1
878270166094. 2
878270166095. 3

878270166096. 4

Question Number : 15 Question Id : 87827042299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Explosive volcanic eruptions are mostly associated with

1. Felsic magmas
2. Mafic magmas
3. Mantle plumes
4 Mid Oceanic Ridges

Options :

878270166097. 1

878270166098, 2
878270166099. 3 @ collegedunia:
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878270166100. 4

Question Number : 15 Question Id : 87827042299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

fapIc® Saadl 3gR S & T FS 5id &

1. hfcgs J1

2. Bfthd BT

3. Hed T

4 Y HEMFRA e

Options :

878270166097. 1
878270166098. 2
878270166099. 3
878270166100. 4

Question Number : 16 Question Id : 87827042300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The oceanic lithosphere 1s generally a primary product of

1. Pre-existing body undergoing modification
2. Plate divergence

3. Plate convergence

4 Deltaic sediments

Options :

878270166101. 1 .
collegedunia:

878270166102. 2

~



878270166103. 3

878270166104. 4

Question Number : 16 Question Id : 87827042300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AEEIHY ¥davsd 9EFag] Fgfaiad &1 e Wyffs 3916 &

1. W & R E TR T gd-Sufed o
T U0
e HHER

BN

Options:

878270166101. 1
878270166102. 2
878270166103. 3

878270166104. 4

Question Number : 17 Question Id : 87827042301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The plate boundaries from which the bounding plates move away are referred to as

1. Great Plate Boundaries
2_Main Plate Boundaries

3. Convergent Plate Boundaries
4 Divergent Plate Boundaries

Options :

878270166105. 1 ,
collegedunia:
878270166106. 2 ¢



878270166107. 3

878270166108. 4

Question Number : 17 Question Id : 87827042301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ic i1 Sel § HiHTd- ©ic g 9l 8, 3¢ HarHd bl oIl &

2. ] Wie Ui

Options:

878270166105. 1
878270166106. 2
878270166107. 3

878270166108. 4

Question Number : 18 Question Id : 87827042302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tectonic plates are made of

1. Crust and lower part of the mantle
2. Nickel and Iron alloys

3. Crust and upper part of the mantle
4 Lower mantle and outer core

Options :

878270166109. 1 gcollegedunias
878270166110. 2 i



878270166111. 3

878270166112. 4

Question Number : 18 Question Id : 87827042302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

oL S

faad-® wic a1 8lal &

1. %% AR Hed & Faen yrr g
2 od 3R dig oy urgsi 9
3 $R AR Hed & JWI YT Y
4 Fad Hed R SRS FR I

Options:

878270166109. 1
878270166110. 2
878270166111. 3

878270166112. 4

Question Number : 19 Question Id : 87827042303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| ava refers to

1. Molten rocks below surface of the earth

2. Molten rocks that erupt from a volcano

3. Molten rocks that solidify deep below crust
4 Plutonic igenous rocks

Options :

878270166113. 1 ,
collegedunia:

878270166114. 2 S



878270166115. 3

878270166116. 4

Question Number : 19 Question Id : 87827042303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

] 9efid @idl &

1. Jdl Dl Ydg & -id [l g3 9gHi Bl
2. SaIdl § b arel [gel gs 9gHi &l
3. % & -iid el Ui 1UHcil g3 dgHI Bl

Options:

878270166113. 1
878270166114. 2
878270166115. 3

878270166116. 4

Question Number : 20 Question Id : 87827042304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



In case of collision of an oceanic and continental lithospheric plates:
{A). The oceanic plate is subducted underneath the continental plate
(B). The continental plate is subducted underneath the oceanic plate
(C). The plate boundary is also referred to as a convergent boundary
(D). Partial melting of the subducting rock may lead to volcanism

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (A), (C)and (D) only

Options :

878270166117. 1
878270166118. 2
878270166119. 3
878270166120. 4

Question Number : 20 Question Id : 87827042304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



AEEIHIY 3R AgEUY YaHSHY Tl & cdhid & A/Hd H-

(A). TENRIT @i Helgiud @i & -id Hafpd el ol

(B). HeTGIUId e HeFRT @i & -id Hafpd el ol

(C). e S @i AR i +f we1 o B

(D). HafPd ggH & e fueH T SarangEiisdr g1 9ad! 3
I feu U fapedf § O WEl SR T -

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @ad (A), (C) 3R (D)

Options :

878270166117. 1
878270166118. 2
878270166119. 3

878270166120. 4

Question Number : 21 Question Id : 87827042305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When the water table slope towards the stream, in context of the stream-aquifer interaction, the stream can be classified as

1. Effluent stream
2. Influent stream
3. Losing stream
4 Insulated stream

Options:
878270166121. 1

878270166122. 2 :
@collegedunlas

878270166123. 3 =



878270166124. 4

Question Number : 21 Question Id : 87827042305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty <3 & UoM ¥ T IO YR ) SR 210 & ol 4R1 3 (09 U § S o o 9 62

2. 3t gl 4RT
3 i em
4 Ve grT

Options :

878270166121. 1
878270166122. 2
878270166123. 3

878270166124. 4

Question Number : 22 Question Id : 87827042306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is mostly associated with the reason for Ozone depletion in the atmosphere

1. Hydrochloric acid
2. Chlorofluoro carbon
3. Ethyl alcohol

4. Methyl alcohol

Options :
878270166125. 1

878270166126. 2 gcollegedunias
878270166127. 3 )



878270166128. 4

Question Number : 22 Question Id : 87827042306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofafaa 3 9 oF 91 JfiedR agdsa | SieiH 3aad & ®RU 4 d6fid 8

1. g3 SidcliNG UfHs
2 FEARITARI BIE-
4. FHUIST cdpied

Options :

878270166125. 1
878270166126. 2
878270166127. 3
878270166128. 4

Question Number : 23 Question Id : 87827042307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bathymetry refers to

. otage and Discharge monitoring of Rivers
. Free air correction in the Gravity data

. Geobotanical studies

. Study of the ocean bottom topography

B A o

Options :
878270166129. 1
878270166130. 2 gcollegedunias

~

878270166131. 3



878270166132. 4

Question Number : 23 Question Id : 87827042307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTTHR (Bathymetry) HaiHd @i 8

1. qfeal B ey 3R fags &1 Rl
2. 5@ b s] § Yo arg gxile

3. HaFHa® ST

4 HeHIR a0 ®aidid 37 siegg-

Options :

878270166129. 1
878270166130. 2
878270166131. 3

878270166132. 4

Question Number : 24 Question Id : 87827042308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Boundary of a watershed i1s generally demarcated by mapping

. Stream flood plain width

. Stream hydrograph

. Logitudinal section of the stream

. Drainage basin divide or water divide

B A o

Options :
878270166133. 1
878270166134, 2 gcollegedunias

~

878270166135. 3



878270166136. 4

Question Number : 24 Question Id : 87827042308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SICAHISID @1 ST BT GiHih FHF GR W - Wid=0 gRI a1 Sl 8|

1. 9T 91 HeF @ 9oy
4. 3Udrg sfd fayo® a1 9d fauee

Options :

878270166133. 1
878270166134. 2
878270166135. 3

878270166136. 4

Question Number : 25 Question Id : 87827042309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Artificial recharge to groundwater

{A). Augments the groundwater reserve

(B). May prevent sea water intrusion in to the fresh water aquifers
(C). May help in arresting the declining groundwater levels

(D). May help in reducing or stopping any significant land subsidence
Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270166137. 1
878270166138. 2
878270166139. 3

878270166140. 4

Question Number : 25 Question Id : 87827042309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



HIFSTS D1 BT TTHIUL-

(A). HiFola YSR H 3mH

(B). TS oI & Saydl H THs! ofd DI Sdae- ol Al ol dhdl o

(C). HH9Id & Yed TR @I AP H HAgg Hd 9ddl o

(D). fardit Wit Hecaqul Y-sfadeH & HH $- T1 AP T Heg B Jobdl &
I feu U fadedl § O 9Et SR -

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270166137. 1
878270166138. 2
878270166139. 3

878270166140. 4

Question Number : 26 Question Id : 87827042310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In structural mapping the trend refers to azimuth of a line and the azimuth is measured

1. In degrees clockwise from north

2. In degress east or west from north only

3. In degrees east or west from south only

4 In degrees east or west from north or south

Options:
878270166141. 1

878270166142. 2 :
@collegedunlas

878270166143. 3 =



878270166144. 4

Question Number : 26 Question Id : 87827042310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEIHD AT H TR U @ & Q09 &l HefHd ddl & 3R feris &l A7 3 &-

1. IR 9 Gignad o f&91 |

2. thad I} 4 Ud I1 ufw & {3

3. hacl GI& ¥ gd a1 uigH ol 53t 4
4. IR U1 &0 9 gd 41 uidE & 5l 4

Options :

878270166141. 1
878270166142. 2
878270166143. 3

878270166144. 4

Question Number : 27 Question Id : 87827042311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Horizontal depositional surface separating relatively young horizontal strata above from older steeply dipping strata below
are likely fo be

1. Nonconformity

2. Disconformity

3. Angular Unconfirmity
4 Folds

Options :

878270166145. 1 gcollegedunias

~



878270166146. 2
878270166147. 3

878270166148. 4

Question Number : 27 Question Id : 87827042311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ao e S, 9 SR At e o At TR W S g 3, 3R A ol R e 7 e e e e

1. HEHGI
4 T

Options:

878270166145. 1
878270166146. 2
878270166147. 3
878270166148. 4

Question Number : 28 Question Id : 87827042312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



While mapping in the sedimentary sequences, the primary structure commonly used to determine 'way up’ within the
sequence are

(A). Cross-bedding

(B). Graded bedding

(C). Oscillation ripple marks

(D). Mud cracks

Choose the correct answer from the options given below:

1.(A), (B) and (D) only.
2.(A), (B) and (C) only.
3.(A), (B), (C)and (D).
4.(B), (C)and (D) only

Options :

878270166149. 1
878270166150. 2
878270166151. 3

878270166152. 4

Question Number : 28 Question Id : 87827042312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



doHIGL\ﬁTLMfFHi@:tUIWW: M o iR Sl e e o R R R R S a1 o et e
Wale

(A). PIE-EEIR

(B). iFe Fwid

(C). Sl el g

(D). U@ faedl

T R e A S W ow g

1. %ad (A), (B) ¥R D)
23:?1?1'(1%1 (B) 3R (C)

3. (), ), (C) 3R D)
4 a1 (B), (C) iR D)

Options :

878270166149. 1
878270166150. 2
878270166151. 3

878270166152. 4

Question Number : 29 Question Id : 87827042313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In geological mapping, the orientation of a line in space Is expressed in terms of

1. Strike and dip

2. Trend and plunge
3. Fore bearing

4 Back bearing

Options:

878270166153, 1
collegedunia:

878270166154. 2

~



878270166155. 3

878270166156. 4

Question Number : 29 Question Id : 87827042313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT gHfE O, fdud ¥ U 3@ &1 R0 & Yed § oad fhar Jrdl &

1 Hfads 2R A1
4. 9y g

Options:

878270166153. 1
878270166154. 2
878270166155. 3

878270166156. 4

Question Number : 30 Question Id : 87827042314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In context of geological mapping, the line of dip

1. Is at an angle of 180° to the line of strike

2. s at an angle of 45° to the line of strike

3. Is at an angle of 90° to the line of strike

4 Has no angular relationship with the line of strike

Options :

878270166157. 1 gcollegedunias
878270166158. 2 )



878270166159. 3

878270166160. 4

Question Number : 30 Question Id : 87827042314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YaRIH® HHE & geH H qid &1 3@l

1.180° & ®IU IR Afdcs & 3@ W Bldl &

2 459 % DI QX Afqdd &I @R ekl &

3. 90° % DIV QX Afqdd &I W R 8kl &

4 el & TG & TIY Dig HIUg &Y el Bidl o

Options:

878270166157. 1
878270166158. 2
878270166159. 3

878270166160. 4

Question Number : 31 Question Id : 87827042315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

On & geological map of scale 1:50 000, the aerial distance between two outcrops is measured as 1 cm, what is the real
aerial distance on ground between the two outcrops

1 5metars
250 meters
3500 meters
4 5000 meters

Options : .
P gcollegedunlas

878270166161. 1 =



878270166162. 2
878270166163. 3

878270166164. 4

Question Number : 31 Question Id : 87827042315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 1:50,000 0 U HaReh AT R, &) 20 o o aa g ol 1 Ot & 0 H A o, & e g YR R
qifd q1d g 71 57

158
2 508K
3. 500 HiX
45000 I

Options:

878270166161. 1
878270166162. 2
878270166163. 3
878270166164. 4

Question Number : 32 Question Id : 87827042316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Faults in field can be identified by

{A). Presence of slickensided surface

(B). Presence of chatter marks

(C). Presence of breccia

(D). Truncation and offset of one or more bed rock units
Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).

4 (B), (C)and (D) only

Options :

878270166165. 1
878270166166. 2
878270166167. 3

878270166168. 4

Question Number : 32 Question Id : 87827042316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



&7 § Y & U9 I o 9Pdl §
(A). Tra&oaTe Tdg @ SUUfd gRT

(B). X Fug @1 JufuUfd g

(C). THIUMH ®f IURYE gRT

(D). UH T7 ¥ TR 2 SISl BT o AR ATHHE gRI
I feu U fasedf § € 8 TR I

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270166165. 1
878270166166. 2
878270166167. 3

878270166168. 4

Question Number : 33 Question Id : 87827042317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A normal slip fault is one in which

1. The hanging wall moves down with respect to the foot wall

2. The hanging wall moves up with respect to the foot wall

3. The hanging wall moves up at a very low angle with respect to the foot wall
4 There 15 horizontal slip between the adjacent blocks

Options:
878270166169. 1

878270166170. 2 :
@collegedunlas

878270166171. 3 =



878270166172. 4

Question Number : 33 Question Id : 87827042317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S R enyR fuR & 98y | e 9l B

SHud fUfy smyR fif & dey d SR B 3R Tl &

U T emyR iy o dde § 9gd 9 &I 1 HWR & 3R dgdl g
M@eddl Wal & arg Afas 94U & |

ol o s

Options :

878270166169. 1
878270166170. 2
878270166171. 3

878270166172. 4

Question Number : 34 Question Id : 87827042318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Low angle reverse faults are also popularly referred to as

1. Transform Fault
2. Dextral Fault

3. Thrusts

4 Nappe

Options :
878270166173. 1
878270166174, 2 gcollegedunias

~

878270166175. 3



878270166176. 4

Question Number : 34 Question Id : 87827042318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 B0 IopF Y @I Aeg 0 9 g8 i $e1 ol 6-
1. ©OidT 49
2. Gi&fonad Yar
3. YH
4. A1
Options :
878270166173. 1
878270166174. 2
878270166175. 3
878270166176. 4

Question Number : 35 Question Id : 87827042319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following about joints is correct

(A). They are resonably continuous and through-going planar fractures

(B). They display systematic preferred orientation

(C). They can be observed on scale of centimeters to tens or hundreds of meters
(D). They show apparent movement along their surfaces

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C)and (D).
4 (B), (C)and (D) only

Options :

878270166177. 1
878270166178. 2
878270166179. 3

878270166180. 4

Question Number : 35 Question Id : 87827042319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



T (joints) & 9 H FAafafad § § &5 91 oy 981 8-
(A). T 3fdd ¥u ¥ PR 3R Hidr ¥ Tanfad o AU 5|
(B). @ Sgafeyd aig HHfa=aryg Ughiid #d 5

s

(C). I U ddx HicX & Gols U1 U@ g & UAH UR oWl Jidl o |
(D). T 3O Tda! U AHTHTET 71fd Uaiid $3d o
I feu U fasedf § € 8 TR I

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) ¥R (D).
4. @dd (B), (C) 3R (D)

Options :

878270166177. 1
878270166178. 2
878270166179. 3

878270166180. 4

Question Number : 36 Question Id : 87827042320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Resistivity sounding

1. Measures horizontal variation in resistivity

2. Measures vertical variation in resistivity

3. Measures both horizontal and vertical variation in resistivity
4. Measures borehole diameter

Options:
878270166181. 1

878270166182. 2 :
@collegedunlas

878270166183. 3 =



878270166184. 4

Question Number : 36 Question Id : 87827042320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iR THRaETA (Resistivity sounding)

1. UfRiy@ar ¥ &fos fear & guar s

2 Ufaiyddl § $HeaieR 4= & 914l &

3. UfaRiedal | afas $iR SEieR figar g=f & 91gdr 8
4 3YTesg oOTg &1 A9 &

Options :

878270166181. 1
878270166182. 2
878270166183. 3

878270166184. 4

Question Number : 37 Question Id : 87827042321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The spontaneous potential logging method

1. Measures natural electrical potential found within the earth
2. Measures short distance resistivity vanation in the borehole
3. Measures spontaneous changes in the borehole diameter
4. Relies on natural gamma radiation

Options :
878270166185. 1

878270166186. 2 gcollegedunias
878270166187. 3 )



878270166188. 4

Question Number : 37 Question Id : 87827042321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aq- fgya OaEH ( spontaneous potential logging) Tafe -

1. 7t & iR U S a1d U@ dggd fayd & auar 8
2. efes & o1 gl &I UfdRIDdl f¥Hd] DI H1Ydl &

3. defes 1Y § Ta:¥pd YRddHl @l J/dl &

4 Urpfad I fafde W R o g

Options :

878270166185. 1
878270166186. 2
878270166187. 3
878270166188. 4

Question Number : 38 Question Id : 87827042322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Arrange the following remote sesnsing processes in a systematic sequence for the use of remote sensing technique
(A). Data Analysis

(B). Data acquisition

(C). Reflection of electromagnetic signals

(D). Thematic Map

Choose the correct answer from the options given below:

)
)

(A), (B), (C
(

)
)

).(C)
), (A).

=]

B), (
B),
A), (D
D

[
[

[
=
=)

[

(
(
(
(

I A o

),
(B), (A),
(C), B),
Options :

878270166189. 1
878270166190. 2
878270166191. 3

878270166192. 4

Question Number : 38 Question Id : 87827042322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



oo - i, S, ¥ ot

Reie 9T d@-1o & Suar & fore FafaRea Rete TR it o 16 Taid o H oaiyd &Y
(A). ST faermn

(B). Mg SR

(¢). fagga Te el &1 Wadd

(D). e At

i UL foedi & ¥ W@ SR -

Options :

878270166189. 1
878270166190. 2
878270166191. 3

878270166192. 4

Question Number : 39 Question Id : 87827042323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(zorges, water falls and canyons are formed by a River

1. During its Old stage

2. During its Mature stage
3. During its Initial stage
4 In its deltaic regime

Options:
878270166193. 1

878270166194 2 Qcollegedunias

~



878270166195. 3
878270166196. 4

Question Number : 39 Question Id : 87827042323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS oied WOTd 3R $f a9 Ut 9¢ gRI S U &

1. 30 GG & CRH
2 30 UIGawl & R
4. 30 Sl YUMel o

Options:

878270166193. 1
878270166194. 2
878270166195. 3

878270166196. 4

Question Number : 40 Question Id : 87827042324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Different oceanic stages are given below, arrange them in correct sequence from younger to older stages as per Wilson
Cycle

(A). Mediterranian Sea

(B). Pacific Ocean

(C). Red Sea

(D). Indian Ocean

Choose the correct answer from the options given below:

A), (C), (B), (D)
(D), (B), (A).
.(A). (D), (C)
G), (B), (D), (A).

C')

A
(C)
(B)
g

Options :

878270166197. 1
878270166198. 2
878270166199. 3
878270166200. 4

Question Number : 40 Question Id : 87827042324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



fofir TEraRiT R &1 S e T 8, oo 99 & oTER 9% 9 § Q9 U1 A W81 o & e Y
(A). YHE TR

(B). TRIId FEMFR

(C). T TR

(D). e TERITR

T rm e d T @ TR T

Options :

878270166197. 1
878270166198. 2
878270166199. 3

878270166200. 4

Question Number : 41 Question Id : 87827042325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Interior of the Earth is divided into number of layers.Find out correct sequences from the following:
(A) Asthenosphere

(B) Lithosphere

(C) Mesosphere

(D) Barysphere

Choose the correct answer from the options given below:

Options :

878270166201. 1
878270166202. 2
878270166203. 3

878270166204. 4

Question Number : 41 Question Id : 87827042325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Q! @ SfidRe 4 Bl FRfaRed Rl & W | fawifor i g, 376 981 15 H @1 J1d difae
(A). TRHRIR
(B). ferRGIR

C
C
B
D

(D)
(D)
(D)
(C)

)
)
)
), (C

A
X
) (
Nl

Options :

878270166201. 1
878270166202. 2
878270166203. 3
878270166204. 4

Question Number : 42 Question Id : 87827042326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a curved section of a stream with water flowing at a resonable velocity

1. Flow is fastest on the outside and slowest on the inside
2. Flow is fastest on the inside and slowest on the outside
3. Flow 15 same throughout the stream section

4 There 1s neither erosion nor deposition by the stream

Options:
878270166205. 1

878270166206 2 :
Qcollegedunlas

878270166207. 3 =



878270166208. 4

Question Number : 42 Question Id : 87827042326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 97 § Udlfed od & 91y Udh 9Rdl & db URmeg 03

1. Jale 916 @ AR Jiadd 3R e ¥ Head sidl &
2 Udg 3eX ¥ digad IR e 4 Head sl &
3 AT ufi=sg A Uag G gIdT 8

Options :

878270166205. 1
878270166206. 2
878270166207. 3

878270166208. 4

Question Number : 43 Question Id : 87827042327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tides in oceans are primarily caused and controlled by:

1. Vanation in temeperature of the ocean water

2. Vanation in salinity of the ocean water

3. Varnation in density of the ocean water

4 Variations in the gravitational effects of the Sun and Moon

Options :
878270166209. 1
878270166210. 2 gcollegedunias

~

878270166211. 3



878270166212. 4

Question Number : 43 Question Id : 87827042327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR § waR-Hel i w4 § Fafiia sror € gidr 8§ 3R i g e

1. HEMNRIE 9 & algHH | (349l

2 HENANRA &d & aauiar § g

3. AEEIRIY o & 9 § (99

4. g4 3R I5H & Toaipyu gHIG! H e

Options :

878270166209. 1
878270166210. 2
878270166211. 3

878270166212. 4

Question Number : 44 Question Id : 87827042328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plutonic rocks generally exhibit

1. Schistose structure
2. Glassy texture

3. Pyroclastic texture
4. Phaneritic texture

Options :
878270166213. 1
878270166214, 2 gcollegedunias

~

878270166215. 3



878270166216. 4

Question Number : 44 Question Id : 87827042328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CEIH® T G dR R UG Rid &Rdl &

1. R S
2. D G
3. SaodSRHl g
4. TRGIch &l XaH]

Options :

878270166213. 1
878270166214. 2
878270166215. 3
878270166216. 4

Question Number : 45 Question Id : 87827042329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aphanetic texture is generally exhibited by

1. Metamorphic rocks

2. Volcanic or extrusive igneous rocks
3. Sedimentary rocks

4 Gneisses

Options :
878270166217. 1
878270166218. 2 gcollegedunias

~

878270166219. 3



878270166220. 4

Question Number : 45 Question Id : 87827042329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e fepedl XA 9 AR OR - & g Uelid gidl 8
1. il 9gH
2. AT a1 afedel g g
3. 3{a9rgl 9gH
4. A139
Options :

878270166217. 1
878270166218. 2
878270166219. 3
878270166220. 4

Question Number : 46 Question Id : 87827042330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



In the discontinuous side/branch of Bowen's reaction series under normal condition, during cooling process, the minerals
crystallize in the following sequence (From higher to lower temperature)

(A). Amphibole
(B). Biotite
(C). Olivine
(D). Pyroxene

Choose the correct answer from the options given below:

Options :

878270166221. 1
878270166222. 2
878270166223. 3

878270166224. 4

Question Number : 46 Question Id : 87827042330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



L R T i ST o e el , < e R, it gt o (9 T
) # fpvecliod 8 8

(A). T

(B) e

(C). 3ifefar

Options :

878270166221. 1
878270166222. 2
878270166223. 3
878270166224. 4

Question Number : 47 Question Id : 87827042331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-I List-ll

(A). Peridotite (). Mafic

(B). Pumice (IN). Felsic

(C). Rhyolite (I11). Non crystalline Rocks
(D). Basalt (IV). Ultra Mafic

Choose the correct answer from the options given below:

1.(A
2. (A
3 (A
4 A

V),
)
I,
V),

)- (1),
B) - (llI),

)-(IV), ( (
)- (1), (B) - (lll), (C
) - (1lI), (B) - (1), (G} - (1), (D)- (
)-(IV), ( (

Options :

878270166225. 1
878270166226. 2
878270166227.3

878270166228. 4

B) - (lll), (C) - (Ir), (D) - (1)
(Il), (D) - (IV)

)-
)
C) - (1), (Dy- (Il

Question Number : 47 Question Id : 87827042331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



-l & Y -1 BT B

- Lial
(A).TRSIeTsE|(1) Alth®
(B). WEE  |(1). Bita®
(C). GITSE |(111). Sfishwetiig ggH
(D). FFIeT  |(IV). 3ie<T Bftrs
7 o U oot 1 § W SR 9

1. (A) - (IV), (B) - (Il), (C) - (1), (D) - (I)
2. (A) - (), (B) - (IN), (C) - (I, (D} - (IV)
3. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

Options:

878270166225. 1
878270166226. 2
878270166227.3

878270166228. 4

Question Number : 48 Question Id : 87827042332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Symplectite texture indicates

1. Intergrowth of two minerals

2. Large grain of one mineral

3. Round and large grains of two minerals
4. QOval and large grain of one mineral

Options :
878270166229. 1
878270166230. 2

878270166231. 3 :
collegedunia:s

878270166232. 4 =



Question Number : 48 Question Id : 87827042332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rciaerge 931 SRd &l o

RARGIEEIE AR LRG|
TS Wi &1 931 HUI
IHSTER 3R TP Wi B G5 B

A

Options:

878270166229. 1
878270166230. 2
878270166231. 3

878270166232. 4

Question Number : 49 Question Id : 87827042333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Determine the correct sequence of average detrital mineral composition of Mud rocks
(A). Clay Mineral

(B). Carbonate

(C). Quartz

(D). Feldspar

Choose the correct answer from the options given below:

Options :

878270166233. 1
878270166234. 2
878270166235. 3

878270166236. 4

Question Number : 49 Question Id : 87827042333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



G TSI &l I9d SRl il Y93 &1 el 36 Fufid &3
(A). giter @i

(B). BIEHC

(C). BIEH

(D). BPeeWR

Td feu e fgwedl § 9 981 S| .

1. (A), (B), (C), (D]

)
2. (A), (C), (D), (B)
3. (B), (A), (D), (C]
4. (C), (B), (D),

Options :

878270166233. 1
878270166234. 2
878270166235. 3

878270166236. 4

Question Number : 50 Question Id : 87827042334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The foliated metamorphic rocks listed in the order of grade or intensity of metamorphism (from lower to higher) and the
types of foliation are:

(A). Schist

(B). Phyllite

(_ul’ 2

(C). Slate

(D). Gneiss
Choose the correct answer from the options given below:

A), (B), (C

A, B).(

B), (A), (D
(

A
A
il (
(C),(B), (A

), (D)

),(C)

),(C)
), (B), (A), (D)
Options :
878270166237. 1
878270166238. 2
878270166239. 3

878270166240. 4

Question Number : 50 Question Id : 87827042334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



TS T BV 1 el (Fad T 3 06) & B0 ¥ Gdiag Ued! HIafervl 9gH 3R Tedh & TR &

(C) e

(D). T8

TRt ddwmswgt

Options :

878270166237. 1
878270166238. 2
878270166239. 3
878270166240. 4

Question Number : 51 Question Id : 87827042335 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An example of non-foliated metamorphic rock that normally forms during contact metamorphism of fine grained rocks lke

mudstone or volcanic rocks are

1. Homblend Gneiss
2. Mica Schist

3. Hornfels

4 Slate

Options:

878270166241. 1

878270166242. 2

gcollegedunias

~



878270166243. 3

878270166244. 4

Question Number : 51 Question Id : 87827042335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R- ! BIGIANA T5H @1 T JeTeRy il H T Y 7St 11 Saigaid el ol AgH o aich GeH) &
T B & GRH T 8

2 el e
4%

Options:

878270166241. 1
878270166242. 2
878270166243. 3

878270166244. 4

Question Number : 52 Question Id : 87827042336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The lowest permissible metal content of an ore generally expressed in percentage is referred to as:

1. Gangue of the ore body
2. Texture of the ore body
3. Tenor of the ore

4 Density of the ore

Options : .
P gcollegedumas

878270166245. 1 =



878270166246. 2
878270166247. 3

878270166248. 4

Question Number : 52 Question Id : 87827042336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR AR R IR H o0 U ST @) 9aY B HHY HTg ! @I 38 ©U H Taftid i o &

2 T o §) FH6e
3. 3O @1 {9 Uesd
4 T T TG

Options:

878270166245. 1
878270166246. 2
878270166247.3

878270166248. 4

Question Number : 53 Question Id : 87827042337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Placer deposits are generally formed by the process of

1. Early magmatic differentiation

2. Late magmatic differrentiation

3. High pressure-temperature metamorphism

4 Mineral concentration by flowing surface water depositing high density minerals in streams or along coast lines

_ gcollegedunias
Options:

~



878270166249. 1
878270166250. 2
878270166251. 3

878270166252. 4

Question Number : 53 Question Id : 87827042337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR (8T T ¥ &

2 7y Fwiig fave
4. Sl 5 11 ge Y@ & W 9 U el Gl @ i $Xd g Gag & o & HaTg § @i gk

Options :

878270166249. 1
878270166250. 2
878270166251. 3

878270166252. 4

Question Number : 54 Question Id : 87827042338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Diamond occur in commercial quantities mostly in

- Sandstones
. Limestones
. Mudstones

. kimberlite
gcollegedunias

~

A o

Options :



878270166253. 1
878270166254. 2
878270166255. 3

878270166256. 4

Question Number : 54 Question Id : 87827042338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BRI DR 0TI HE H - H G i1l &

1. G TR
2 AT URR
3 qajE.‘“'

4. fpraRanse

Options :

878270166253. 1
878270166254. 2
878270166255. 3

878270166256. 4

Question Number : 55 Question Id : 87827042339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| ate magmatic deposits include

1. Magmatic Chert deposits
2. Magmatic deposits of Iron and Titanium
3. Diamond deposits in kimberlites of magmatic origin

4 Mica deposits of Jharkhand
gcollegedunias

~

Options :



878270166257. 1
878270166258. 2
878270166259. 3

878270166260. 4

Question Number : 55 Question Id : 87827042339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uy g ey ¥ wiifd 8

2. dig 3R -:-:;EFLMH o T ey _
3. iy o & fhratarsed 4 ek & A&y
4 IRES & AYD 8y

Options :

878270166257. 1
878270166258. 2
878270166259. 3

878270166260. 4

Question Number : 56 Question Id : 87827042340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bauxite deposits are generally formed by

1. Residual concentration
2. Early magmatic concentration
3. Late magmatic concentration

4 High temperature and pressure metamorphism gcollegedunias

~



Options :

878270166261. 1
878270166262. 2
878270166263. 3
878270166264. 4

Question Number : 56 Question Id : 87827042340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

digaree feuifere aHMaa: §9d &-
1. FIEP Th5u

2 URfYE AT dhg0
3. Y B a0l
4. 3= dI9HM 3R GId ARG

Options :

878270166261. 1
878270166262. 2
878270166263. 3
878270166264. 4

Question Number : 57 Question Id : 87827042341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Platinum deposits of magmatic origin are mostly assocciated with

1. Granitic Rocks

2. Felsic Rocks

3. Rhyolites

4 Mafic to ultramafic rocks

Options :

878270166265. 1
878270166266. 2
878270166267. 3

878270166268. 4

Question Number : 57 Question Id : 87827042341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. UAISe® 92
2. Thicdd IgH
4 Hib® U fgiithd 9gH

Options:

878270166265. 1
878270166266. 2
878270166267. 3

878270166268. 4

Question Number : 58 Question Id : 87827042342 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time: N.AT

Minimum Instruction Time : 0 gcollegeduniag

~

Correct Marks : 4 Wrong Marks : 1



Spermatophytes refer to

1. Jawless animals

2. Early Mammals

3. Vertebrates

4 Vascular plants with seeds and flower

Options :

878270166269. 1
878270166270. 2
878270166271.3
878270166272. 4

Question Number : 58 Question Id : 87827042342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA BIEe $edld &

1_foa1 9IS 9 SFER

2. URIY® THYR] wila

3. HIPDHI Wiig

4. 9§19 3R Bal & WY a1 uig

Options:

878270166269. 1
878270166270. 2
878270166271. 3
878270166272. 4

Question Number : 59 Question Id : 87827042343 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time: N.AT

Minimum Instruction Time : 0 gcollegeduniag

~

Correct Marks : 4 Wrong Marks : 1



Mass extinction at the end of cretaceous in all likelihood was caused by

1. Plague pandemic

2. Increase in salinity of the ocean water
3. Collision of the plates

4. Asteroid impact and volcanic activity

Options :

878270166273. 1
878270166274. 2
878270166275. 3

878270166276. 4

Question Number : 59 Question Id : 87827042343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty gye Fafafad § freRmy & ofd § 92 T9H | fAqW &1 &1 sRu Ut

1. & HeTHR1

2. W% ®I aurdl § dg

3. &icl & THd & BRY]

4. &fUE WHIG 3R SaIcg@! iafaiy

Options:

878270166273. 1
878270166274. 2
878270166275. 3

878270166276. 4

Question Number : 60 Question Id : 87827042344 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time: N.AT

Minimum Instruction Time : 0 gcollegeduniag

~

Correct Marks : 4 Wrong Marks : 1



Findout the correct sequence of biotic events during the geological past from the following events
(A). Early Land Plant

(B). First apperance of Homo habilis

(C). First appearance of rodents

(D). First apperance of Graptolites

Choose the correct answer from the options given below:

Options :

878270166277. 1
878270166278. 2
878270166279. 3

878270166280. 4

Question Number : 60 Question Id : 87827042344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



e ¥t

FOfeRad geref ¥ Yo 3fdid & GRM Slidd ge-1s & Tel 3shH J1d Difl-
(A). URfHS YiH Urey

(B). &A1 gfafcrg 1 9yH Jurufd

(C). T-dd! BI UYH IufYT

(D). APTcTSCH Bl UYH IURYRM

Tid fer e e § T |t SR

Options :

878270166277. 1
878270166278. 2
878270166279. 3

878270166280. 4

Question Number : 61 Question Id : 87827042345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transmitted light microscopes are mostly used for studying

1. Polished section of Gelaena

2. Thin section of rocks and minerals

3. Polished section of Sphalerite

4. Polished section of rocks and minerals

Options:
878270166281. 1

878270166282. 2 :
Qcollegedunlas

878270166283. 3 =



878270166284. 4

Question Number : 61 Question Id : 87827042345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

daRd a1 geAall &1 SudiT Sfiday & MG & oY (a1 Il 8

1. T BT UIAYER ©S

2. gl 3R Wi-ell &1 gdel WS

3. ThoRISE @I UIGRIGR Ua

4. 9gHi SR @l @1 UIRGR @S

Options :

878270166281. 1
878270166282. 2
878270166283. 3
878270166284. 4

Question Number : 62 Question Id : 87827042346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The anisotropic crystals

1. Transmit light with equal velocity in all directions

2. Transmit light with different velocity in different directions
3. Has ray velocity surface as sphere

4. Are hypothetical and never occur really in nature

Options :
878270166285. 1

878270166286. 2 gcollegedunias
878270166287. 3 )



878270166288. 4

Question Number : 62 Question Id : 87827042346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dHGIRTD {anisotropic) hicd

1. g4 fezmef # 9AH 971 9 U §91d o3 8
2 fafiya fezmail # fafi 971 € Uer 91 &3d §
3. 7l & G4 601 377 9dg ard '—:_J.“-l—';[ %’

4. Bt & R e A v 3 e e €

Options :

878270166285. 1
878270166286. 2
878270166287. 3
878270166288. 4

Question Number : 63 Question Id : 87827042347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following is related to pleochroism phenomenon oberved during petrological study using thin section of
coloured minerals

(A). Itis observed on rotation of the thin section under plane polarized light

(B). It refers to change in hue or intensity of colour during rotation

(C). Itis caused by different degree of absorption of light by the mineral in different orientation
(D). Itis caused by same amount of absorption of light by the mineral in different direction
Choose the correct answer from the options given below:

.(A), (B) and (D) only.

)and (C) only.
(A), (B), (C)and (D).
.(B), (C)and (D) only

Options :

878270166289. 1
878270166290. 2
878270166291. 3

878270166292. 4

Question Number : 63 Question Id : 87827042347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



frafefe & 8 ol w1 T Tl o Tl S 1 S %0 Jaaqga s HeTH & G- 907 Sgavia 9o 4 Uafiia
(A). T T $didpal Fhre1 o SfdTel Uefel 68 o Y0 W Hacfabel fovdl o1 31
(B). T% U & SR 1171 14 (hue) B TE-1el H URGcH bl Wefila @ gl
(). Te fofir ffamme & e gR1 vo R & rawivn @) foft feh & arm g 2|
(D). T8 T g foft oz & 7ol & /a2 @1 §HH 1 & SR gl ol
S ARG R R K
1. 999 (A), (B) 3R (D)
2 a4 (A), (B) ¥R (C)
3.(4), ). €) 3R ()
4 94 (B), (C) 3R (D)

Options :

878270166289. 1
878270166290. 2
878270166291. 3
878270166292. 4

Question Number : 64 Question Id : 87827042348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Olivine is a

1. Tectosilicate
2. Cyclosilicate
3. Phyllosilicate
4. Nesosilicate

Options:
878270166293. 1

878270166294, 2 :
Qcollegedunlas

878270166295. 3 =



878270166296. 4

Question Number : 64 Question Id : 87827042348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TP &

1 Zaeirgftide
2. HrEaaiiaferde
3. BIgdlgfede

4 =it

Options :

878270166293. 1
878270166294. 2
878270166295. 3
878270166296. 4

Question Number : 65 Question Id : 87827042349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



There are various type of radioactive elements present in nature. They have different half life. Arrange the following radio
active elements in their decreasing half life

(A).¥Rb
(B). “
({:} ZESU
(D). “'sm

Choose the correct answer from the options given below:

1.(A), B), (C), (D)
2.(D), (A), (C), (B)
3.(8), (A), (D), (C)
4.(C), (B), (D), (A).
Options :

878270166297. 1
878270166298. 2
878270166299. 3

878270166300. 4

Question Number : 65 Question Id : 87827042349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



el # fofira TR o ST o SURYeT €1t 31 STt e o g & 1 e et vl 1 377 e o
0 1 o

(A). *Rb

(B). “K

(C). 44

(D). “'sm

1.(A), (B), (C), (D)
2.(D), (A), (C), (B)
3.(B), (A), (D), (C)
4.(C),(B), (D), (A)

Options :

878270166297. 1
878270166298. 2
878270166299. 3

878270166300. 4

Question Number : 66 Question Id : 87827042350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-Il

List-l List-ll

(A). Greenschist Facies (). Facies represnts maximum temperature

(B). Eclogite Facies (II). Facies reprents low grade of metamorphism

(C). Granulite Facies (). Facies represnts deep seated condirtion of metamorphism
(D). Ambhibolite Facies (IV). Facies represents medium to high grade metamorphism

Choose the correct answer from the options given below:

Options :

878270166301. 1
878270166302. 2
878270166303. 3

878270166304. 4

Question Number : 66 Question Id : 87827042350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



-1 & Ty FEA-I B A B

- BGifl

(A). TR Smamt (). Soam sfiesas aoEE ST WeHE B3 &
(B). ST Saenlt  |(11). Tasmh g it & o = v e g
(C). J=Iege Hagult  |(11). Seel sriae B TR (deep seated) fRufd @1 wiaffia & 8
(D). TRFaTaTEE TOsUi|(1V). ST FEW T 3= SIE S BAG &1 WdHiid $d &
A U U fadhedl 5 § T8l R -

1 (A)-

-
2. (A
-
-

V), (B)-(1), (C)-(1I), (D)l
1), (B)-(11), (CH(1), (D)-(IV
1), (B)-(1), (CH(IV), (D)l
V), (B)-(1), (C)-(I1), (D)-(INI

3 (A)-
4 (A)-

)
)
)
)
Options :

878270166301. 1
878270166302. 2
878270166303. 3

878270166304. 4

Question Number : 67 Question Id : 87827042351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-| List-l

(Sediments)|(Grain size)

(A). Gravel|(l). Mostly grain size < 1/256 Millimeters

(B). 5and |(Il). Mostly grain size in the range of 1/16 to 1/256 Millimeters

(C). Silt (). Mostly grain size in the range of 1/16 to 2 Millimeters

(D). Clay |(IV). Mostly grain size = 2 Millimeters

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (N, (B) - (1), (C) - (I1), (D) - (IV)

3. (A) - (IV), (B) - (111}, (C) - (In), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1IT)
Options :

878270166305. 1
878270166306. 2
878270166307. 3
878270166308. 4

Question Number : 67 Question Id : 87827042351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



-l & Y -1 BT B
a4 [

(de7sSC) (DY DT SHTDPR)

(A). Tot |(1). SiTEiR &0 &1 e <1/256 fFRiiHex

(B). AT |(II). H4HT= U1 &1 BN 1/16 F 1/256 FHeiHCT Bt wrEd
(C). TM& |y, HfEsT= & & SEN 1/16 2 ey & We H
(D). GRIFI|(1v). &SR B0 1 HHER 2 FeiHe

TRy AP § I TSR T

1. (A)-
2 (A)-
3. (A)-
4 (A)-

1), (B)-(I1), (C)-(1II), (D)-(IV)
1), (B)-(1), (C)-(IN), (D)-(IV)
V), (B)-(111), (C)-(11), (D)-(1)
1), (B)-(IV), (C)-(1), (D)-(I11)

.

Options :

878270166305. 1
878270166306. 2
878270166307. 3
878270166308. 4

Question Number : 68 Question Id : 87827042352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the followings are typical characteristics of Quartz arenite
{A). They are composed of more than 80% siliceous grains

(B). They are commonly white or light grey in colour

{C). Most quartz arenites are texturally mature to super mature
(D). The grains are typically of sizes less than 0.004 Millimeters
Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270166309. 1
878270166310. 2
878270166311. 3

878270166312. 4

Question Number : 68 Question Id : 87827042352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



fofafea o 4 oF O orda TeRe of fafty fGRuant 8
(A). d 90 Ufa=d ¥ e Rtera s i a4 sid o

(B). T TTHMT IR W 4 I1 R T & &id &

(C). HIHHTY PIee THGCH §acI TUH UG ¥ AT UG Bld 5

(D). U1 faf2F dR @R 0.004 FciHiel ¥ 9 MHR & 5id o
I feu U fadedl § O 9Et SR -

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270166309. 1
878270166310. 2
878270166311. 3

878270166312. 4

Question Number : 69 Question Id : 87827042353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kutch basin is an example of

1. Peri-cratonic rift basin
2. Intra cratonic rift basin
3. Back arch basin
4. Fore land basin

Options:
878270166313. 1

878270166314, 2 :
Qcollegedunlas

878270166315. 3 =



878270166316. 4

Question Number : 69 Question Id : 87827042353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. Wishei-e Rue afiiE &1

2. 3l held Rue dffa &1

3. @ ATd & @

4. U ST @1
Options :

878270166313. 1
878270166314. 2
878270166315. 3
878270166316. 4

Question Number : 70 Question Id : 87827042354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The hierarchy of lithostratigraphic units from higher to lower order is
{(A). Member

(B). Bed

(C). Formation

(D). Group

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2.(C), (A), (B), (D)
3. (D), (C), (A), (B)
4. (B), (C), (D), (A).

Options :

878270166317. 1
878270166318. 2
878270166319. 3

878270166320. 4

Question Number : 70 Question Id : 87827042354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



o femihe Soedl &1 3« © Y d& UgHHH &

(D). T4
=t feu U fadedi § ¥ 98 SR -

1. (A), (B), (C), (D)
2. (C), (A), (B), (D)
3. (D), (C), (A), (B)
4.(B), (C), (D). (A)

Options :

878270166317. 1
878270166318. 2
878270166319. 3

878270166320. 4

Question Number : 71 Question Id : 87827042355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Biostratigraphic units are

1. Bodies of rock defined and charactenzed by their fossil content
2. Bodies of rock identified by remnant normal magnetic polarity

3. Bodies of rock identified by remnant reverse magnetic polarity

4 Bodies of rock defined and characterized by their mineral content

Options:
878270166321. 1

878270166322. 2 :
Qcollegedunlas

878270166323. 3 =



878270166324. 4

Question Number : 71 Question Id : 87827042355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

SawN® (GERCCUT®T) SHIE4l 8ldl &

1. I & o1l & I Siard I & gR1 R 3R faeidied &
2. AP YHFI dadId Yaurdl gRI UgdiH U 9gH & Hal

3. fafIF Ui JE®IY Yauidl gRI UgdiH ¢ 92 & Ho/™

4. 9 & Mo/l B 3Fd1 @il I gRT URHIE 3R fa=ididd &

Options :

878270166321. 1
878270166322. 2
878270166323. 3

878270166324. 4

Question Number : 72 Question Id : 87827042356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List- with List-Il

List-|

List-ll

(A). Dagshai Formation

(I). Shallow Marine

(B). Subathu Formation

(I1). Marine

(C). Rohtas Formation

(I11). Fresh Water

(D). Kasauli Formation

(IV). Brakish Water

Choose the correct answer from the options given below:

1.(A)- (1), (B) - (), (C) - (1h, (D) - (V

2. (A)-(1),(B) - (), (C)- (1), (D) - (V

3. (A)-(IV), (B)- (1), (G)- (), (D) - (i

4. (A) - (1), (B) - (IV), (C)- (1), (D) - (I
Options :

878270166325. 1
878270166326. 2
878270166327. 3

878270166328. 4

Question Number : 72 Question Id : 87827042356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



-l & Y -1 BT B

it -l

(A). SRS BRaEE (). e T
(B). & BIHEA (1), Szt

(C). oo™ BINHEA (I, T |
(D). PEICH BRHATA

(V). TR &
I fgu e fadhedl f © Uel 3w -

1. (A)-
2 (A)-
3 (A)-
4 (A)-

1), (B)-(11), (C)-(liN), (D)-(IV
), (B)-(1l), (C)-(1N), (D)-(IV
V), (B)-(I1), (C)-(1), (D)-(1i
1), (B)-(IV), (C)-(1), (D)-(I

T
B ey

Options :

878270166325. 1
878270166326. 2
878270166327. 3

878270166328. 4

Question Number : 73 Question Id : 87827042357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bababudan and Chitradurga Groups are part of

1. Bundelkhand craton

2. Vindhayan Supergroup
3. Dharwar Supergroup
4. Delhi Supergroup

Options :
878270166329. 1

878270166330. 2

878270166331. 3 @collegedunias

~



878270166332. 4

Question Number : 73 Question Id : 87827042357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEEEH R g Tg SU®1 UM §

1. %i\l@*ﬂ ﬁaie;
2. Tde guegd

3. UNdls Uy
4. feed Uy

Options :

878270166329. 1
878270166330. 2
878270166331. 3
878270166332. 4

Question Number : 74 Question Id : 87827042358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The lower Gondwana Group is characterized by

1. Presence of Plilophyllum

2. Presence of Coral polyps

3. Presence of Glossopteris flora
4 Presence of Hibiscus flora

Options :
878270166333. 1
878270166334, 2 gcollegedunias

~

878270166335. 3



878270166336. 4

Question Number : 74 Question Id : 87827042358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ryl TISaHT 948 & &R f[a9fied &
feaifthon @ Suffa

DR Uici of JufRyfd

TAMEIPRE grmiagl of Juiyfd

Tefavmy afogt @ Sufufg

A o

Options :

878270166333. 1
878270166334. 2
878270166335. 3

878270166336. 4

Question Number : 75 Question Id : 87827042359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Supergroups are not related to the Proterozoic sedimentary basins of India

1. Vindhyan Supergroup

2. Cuddapah Supergroup
3. Chhattisgarh Supergroup
4. Delhi Supergroup

Options :
878270166337. 1
878270166338. 2 gcollegedunias

~

878270166339. 3



878270166340. 4

Question Number : 75 Question Id : 87827042359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofafad § O ®F 91 QU YRd & Uicduisd dadel ara- § Jeftd et 82

1. [du goegu
2. DS Uy
3. BT Uy

4. Tl guyy
Options :

878270166337. 1
878270166338. 2
878270166339. 3

878270166340. 4

gcollegedunias

~



